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N signed int wS; £/

% signed int whj fF

6| signed int w7; S/

7| signed int uB; S/

8| signed int w9 ff [

9| signed int vi@; £/

18] signed int16 v11;

11| char vi2; ff [sp+*8Fh] [
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13] __main();

14 printf{"iEiE A Flag,
15| w5 = "galf*;

16 ulfh = 1ol "z

17 w? = 1701670755 ;
18 wd = 1601131615;
19 w9 = 1445861458 ;
20| wib = 1684828783 ;
21| w11 = 32033;

22| vi2 = B;

23| while ( scanf{"%s"
24 printf("Flag] & _‘:‘.

26 printf{“flagF
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26| printf( 1S ERIEp l-': “=I'+AH;'ZEIE-‘

27| printf( g E
28| printf(iRERGEE N EY
29 getchar();
38| getchar();
31 return 8;
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13| _ main{};
14 prlntF("‘E?ﬁj\Flag
15 = 'galf’;
16 = "lel{";
17 = 'emoc";
18 ="' oT_";
19 = "W ER";
28 = 'dlro";
21 = "t
22 = B;
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BEBE R THRPE
WEF L B Iflag

] L1 0BT 0000

p1.1.00510802% flag Fid

p).1. 008810030

p].1. 00410864







	南邮CTF逆向题第一道Hello,RE!解题思路

